ITEM#:	QUANTITY	: DESCRIPTION:	UNIT PRICE:	TOTAL PRICE:
1	10	DC Fast Charger per specifications	\$ <u>50,600</u>	\$506,000
2	20	InControl License per specifications	\$ <u>1,952</u>	\$ 39,040
3	10	Extended Warranty per specifications	\$ 9668.50	\$ <u>96,685</u>
4	10	InService Maintenance Plan per specifications	\$10,126	\$101,260
5	10	Shipping / Freight for DC Charger	\$854	\$8,540
6	1	InControl Configuration (one-time charge per site)	\$781	\$781
7	10	Light Bar with Cable Retractor per specifications	\$2,440	\$ <u>24,400</u>
8	10	Shipping / Freight for Light Bar with Cable Retracte	or \$129.30	\$ <u>1,293</u>
9	4	RFID Card per specifications	\$152.50	\$_610
10	1	Commissioning (first unit only)	\$2,318	\$ <u>2,318</u>
11	9	Commissioning (balance of units)	\$457.56	\$4,118
			TOTAL - ALL ITEMS =	\$ <u>785,045.00</u>

<sup>\*</sup>Award to be based on total amount. Must bid all items.

Name of Bidder: Universal Electric Co., Inc.

<sup>\*\*</sup>All items must be as specified. No exceptions allowed.

*	795,921.75	₩	Ш	ALL ITEMS	TOTAL-	ТОТ		
	38,643.80	69		38,643.80	69	EV Charger bolt down installation	_	12
	3,501.86	<del>\$</del>	I	389.10	<del>69</del>	Commissioning (balance of units)	9	11
	1,945.48	<b>~</b>	I	1,945.48	<del></del>	Commissioning (first unit only)	<del></del>	10
	111.20	89	ı	27.80	<del>⇔</del>	RFID Card per specifications	4	9
	1,111.70	\$	ı	111.17	<b>⇔</b>	Shipping / Freight for Light Bar with Cable Retractor	10	<b>∞</b>
	23,345.70	8	1	2,334.57	₩	Light Bar with Cable Retractor per specifications	10	7
	665.91	<del>\</del>	ı	665.91	59	InControl Configuration (one-time charge per site)	pres <sup>2</sup>	6
	7,226.10	\ <del>\$</del>		722.61	₩	Shipping / Freight for DC Charger	10	S
	122,420.40	<b> </b>		12,242.04	<b>⇔</b>	InService Maintenance Plan per specifications	10	4
	82,788.30	<del>\$9</del>	I	8,278.83	<b>⇔</b>	Extended Warranty per specifications	10	w
	37,797.80	<b>\$</b>		1,889.89	<b>⇔</b>	InControl License per specifications	20	2
	476,363.50	<del>\$</del>	ı	47,636.35	<del>⇔</del>	DC Fast Charger per specifications	10	
	TOTAL PRICE:	TO		IT PRICE:	UN	QUANTITY: DESCRIPTION:	QUAN	ITEM#:

<sup>\*</sup>Award to be based on total amount. Must bid all items.

Name of Bidder: VOLTREK, LLC

<sup>\*\*</sup>All items must be as specified. No exceptions allowed.

	11	10	9	<b>∞</b>	7	6	5	4	ω	2	_	ITEM#:
	9	<del>,</del> *	4	10	10	pmod	10	10	10	20	10	QUANTI
ТОТ	Commissioning (balance of units)	Commissioning (first unit only)	RFID Card per specifications	Shipping / Freight for Light Bar with Cable Retractor	Light Bar with Cable Retractor per specifications	InControl Configuration (one-time charge per site)	Shipping / Freight for DC Charger	InService Maintenance Plan per specifications	Extended Warranty per specifications	InControl License per specifications	DC Fast Charger per specifications	QUANTITY: DESCRIPTION:
TOTAL – ALL ITEMS =	\$3,996.10	\$3,996.10	\$10.00	\$117.00	\$2,106.00	\$700.83	\$760.50	\$9,069.84	\$8,713.57	\$1,755.00	\$44,592.50	UNIT PRICE:
\$729,095.98	\$35,694.90_	\$3,966.10	\$40.00	\$1,170.00_	\$21,060.00	\$700.83	\$7,605.00	\$90,698.40	\$87,135.75	\$35,100.00	\$445,925.00	TOTAL PRICE:

<sup>\*</sup>Award to be based on total amount. Must bid all items.

	Name	
	of.	
-	me of Bidder:	
-	101	1
	1	

<sup>\*\*</sup>All items must be as specified. No exceptions allowed.

11	10	9	<b>∞</b>	7	6	S.	4	ω	2	1	ITEM #:
9	1	4	10	10	1	10	10	10	20	10	QUANTITY
Commissioning (balance of units)	Commissioning (first unit only)	RFID Card per specifications	Shipping / Freight for Light Bar with Cable Retractor	Light Bar with Cable Retractor per specifications	InControl Configuration (one-time charge per site)	Shipping / Freight for DC Charger	InService Maintenance Plan per specifications	Extended Warranty per specifications	InControl License per specifications	DC Fast Charger per specifications	QUANTITY: DESCRIPTION:
\$ 660.91	\$ 2,370.00	\$ 26.69	\$ 386.50	\$1,624.94	\$ 657.45	\$ 580.33	\$ 9,471.12	\$ 9,604.00	\$1,420.66	\$47,356.25	UNIT PRICE:
\$5,948.19	\$2,370.00	\$ 106.76	\$ 3865.00	\$ 16,249.40	\$ 657.45	\$ 5,803.30	\$ 94,711.20	\$ 96,040.00	\$ 28,413.20	\$473,562.50	TOTAL PRICE:

<sup>\*</sup>Award to be based on total amount. Must bid all items.

Name
of
Bidder:
DMH
Electr

<sup>\*\*</sup>All items must be as specified. No exceptions allowed.

	111 9	10 1	9 4	8 10	7 10	6 1	5 10	4 10	3 10	2 20	1 10	ITEM #: QUA
Custom Installation	Commissioning (balance of units)	Commissioning (first unit only)	RFID Card per specifications	Shipping / Freight for Light Bar with Cable Retractor	Light Bar with Cable Retractor per specifications	InControl Configuration (one-time charge per site)	Shipping / Freight for DC Charger	InService Maintenance Plan per specifications	Extended Warranty per specifications	InControl License per specifications	DC Fast Charger per specifications	QUANTITY: DESCRIPTION:
\$ 39,380.00	\$ 389.06	\$1,945.27	<del>\$</del>	\$ 115.50	\$ 2,000.85	\$ 665.84	\$ 722.54	\$8,616.96	\$8,278.49	\$1,667.37	\$ 44,403.70	UNIT PRICE:
\$ 39,380.00	\$3,501.53	\$ 1,945.27	<del>&lt;</del>	\$ 1,155.00	\$ 20,008.45	\$ 665.84	\$ 7225.35	\$ 86,169.60	\$82,784.90	\$33,347.38	\$ 444,037.00	TOTAL PRICE:

<sup>\*</sup>Award to be based on total amount. Must bid all items.

Name of Bidder: KT&T Distributors, Inc.

<sup>\*\*</sup>All items must be as specified. No exceptions allowed.

*Awaard to l	12	11	10	9	00	7	თ	51	4	ω	2	₽	ltem
nust be as spe	10	9	1	4	10	10	ı	10	10	10	20	10	Quantity
*Awaard to be based on total amount. Must bid all items **All items must be as specified. No Exceptions allowed.	Installation - Including -Receive and store 10 charger -Delivery of 10 chargers to work site -Affix 10 EV chargers to ground -Install 10 cable retractors -Comissioning of chargers -Excludes any make read utility work, or electrical connections to charger such as transformers, meter cabinets or power distributionIncludes prevailing wage, day shift	Commissioning (balance of units)	Commissioning (first unit only)	RFID Card per Specification	Shiping/Freight for Light Bar with Cable Retractor	Light Bar with Cable Retractor per specifications	InControl Configuration (one-time charge per site)	Shipping/Freight for DC Charger	InService Maintenance Plan per Specification	Extended Warranty per Specification	InControl License per Specification	DC Fast Charger Per Specification	Description
Ø	<del>69</del>	69	<del>69</del>	↔	€9	€9	↔	₩	<del>69</del>	₩	₩.	€9	Unit Price:
	3,479.50	385.87	2,031.66		108.50	2,089.71	649.92	695.50	8,999.68	8,646.17	1,741.43	46,728.24	rice:
<b>*</b>	<del>(                                    </del>	₩	69	69	69	<del>69</del>	₩	€4>	69	69	<del>69</del>	<del>69</del>	Total Price:
748,405	34,795.00	3,472.83	2,031.66	•	1,085.00	20,897.10	599.00	6,955.00	89,996.84	86,461.70	34,828.50	467,282.38	ce:

Name of Bidder:

Guardian Energy Management Solutions, LLC

ITEM #:	QUANTIT	Y: DESCRIPTION:	UNIT PRICE:	TOTAL PRICE:
1	10	DC Fast Charger per specifications	s 86,000.00	s 860,000
2	20	InControl License per specifications	s 5, 200.00	s 104,000
3	10	Extended Warranty per specifications	s 9,000.00	s 90,000
4	10	InService Maintenance Plan per specifications	\$ 5,500.00	\$ 55,000
5	10	Shipping / Freight for DC Charger	\$ 12,000.00	\$ 120,000
6	1	InControl Configuration (one-time charge per site)	s 4,000.00	\$ 4,000
7	10	Light Bar with Cable Retractor per specifications	\$ 8,000.00	s 80,000
8	10	Shipping / Freight for Light Bar with Cable Retract		\$ 35,000
9	4	RFID Card per specifications	\$ 6,500.00	s 26,000
10	1	Commissioning (first unit only)	\$ 5,000.00	\$ 5,000
11	9	Commissioning (balance of units)	\$ 5,000.00	\$ 45,000
			TOTAL - ALL ITEMS =	s 1,424,000 ·

<sup>\*</sup>Award to be based on total amount. Must bid all items.

Name of Bidder: Annese Electrical Services, Inc

<sup>\*\*</sup>All items must be as specified. No exceptions allowed.

ITEM#:	<b>OUANTITY</b>	/: DESCRIPTION:	UNIT PRICE:		TOTAL PRICE:
1	10	DC Fast Charger per specifications	\$ <u>\$48,459.68</u>		<b>\$484,596.77</b>
2	20	InControl License per specifications	\$_\$1,725.81	_	\$ \$34,516.13
3	10	Extended Warranty per specifications	\$ \$8,568.62		\$ \$85,686.24
4	10	InService Maintenance Plan per specifications	\$ \$8,918.97	_	\$ \$89,189.68
5	10	Shipping / Freight for DC Charger	\$ \$7,478.49	_	\$ \$7,478.49
6	1	InControl Configuration (one-time charge per site)	\$ <u>\$644.09</u>		\$\$644.09
7	10	Light Bar with Cable Retractor per specifications	\$_\$2,070.97		\$20,709.68
8	10	Shipping / Freight for Light Bar with Cable Retract	or \$ \$107.53		\$ \$1,075.27
9	4	RFID Card per specifications	\$ \$26.88		\$\$107.53
10	1	Commissioning (first unit only)	\$_\$2,013.44		\$ \$2,013.44
11	9	Commissioning (balance of units)	<b>\$ \$414.85</b>		\$\$3,733.65
			TOTAL - ALL ITEMS	=	\$ \$729,750.96

<sup>\*</sup>Award to be based on total amount. Must bid all items.

Name of Bidder: E-3 Energy Advisors, LLC

<sup>\*\*</sup>All items must be as specified. No exceptions allowed.

ITEM#:	QUANT	TITY: DESCRIPTION;	UNIT PRICE:	TOTAL PRICE:
1	10	DC Fast Charger per specifications InCharge ICE-120 CCSI Long / CCSI Long - 1120-CILCIL-R	\$43,094	\$_430,944
2	20	InControl License per specifications InCharge InControl DC Fleet - INC-DCFLEET-60	\$_1,624	\$_32,480
3	10	Extended Warranty per specifications InCharge Extended Warranty IXFC AIO Medium - EXTWDCAIOM-36	\$ <u>9,275</u>	\$ <u>92,750</u>
4	10	InService Maintenance Plan per specifications InCharge InService Standard - DC - Private Use - ISS-DCPR-60	\$_8,960	\$_89,600
5	10	Shipping / Freight for DC Charger InCharge Shipping for DC All-in-One - SHIP-DCFC	\$1,633	\$_16,333
6	1	InControl Configuration (one-time charge per site) InCharge InControl Setup - INC-SETUP	\$_566	\$_566
7	10	Light Bar with Cable Retractor per specifications InCharge Light Bar Cable Retractor for ICE AtO, ICE66 V2X - IA-DCR	\$ <u>1,300</u>	\$_13,000
8	10	Shipping / Freight for Light Bar with Cable Retractor InCharge Shipping for Cale Retractor - SHIP-CR	\$ <u>o</u>	\$ <u>o</u>
9	4	RFID Card per specifications InCharge RFID Cards - 5 Pack - RFID-CARD-SFK	\$_500	\$ 2,000
10	1	Commissioning (first unit only) InCharge Commissioning - INST-CSNACIDC-2 Installation (Bult-down, final wire terminations), Testing, OEM Verification	\$ 4,709	\$_4,709
11	9	Commissioning (balance of units)  InCharge Commissioning - INST-CSMACHEC-2 Installation (Bolt-down, final wire terminations), Testing, OFM Verification	\$ 2,787	\$_25,079
			TOTAL - ALL ITEMS =	\$_707,461

<sup>\*</sup> Award to be based on total amount. Must bid all items.

Name of Bidder: Highland Electric Fleets, Inc.

<sup>\*\*</sup> All items must be as specified. No exceptions allowed.

A Bid price is contingent on receipt of award by no later than August 8, 2025, and excludes all warranties, express or implied, other than the Extended Warranty (Item #3) and any other express or implied warranty of InCharge attaching to the above goods and services, which InCharge warranties will be transferred to the City of Worcester upon completion of the delivery and installation contemplated by this proposal.

W.

AV S

4

N

Shipping / Freight for Light Bar with Cable Retracto RFID Card per specifications Commissioning (first unit only) Commissioning (balance of units)	1 1 2 2 3 3 4 4 4 5 5 5 6 6 6	OUANTII 10 20 10 10	OUANTITY: DESCRIPTION:  DC Fast Charger per specifications  InControl License per specifications  Extended Warranty per specifications  InService Maintenance Plan per specifications  Shipping / Freight for DC Charger  InControl Configuration (one-time charge per site)  Light Bar with Cable Retractor per specifications	\$ 49,237.00 \$ 1,520.00 \$ 9,890.00 \$ 9,835.00 \$ 2,260.00 \$ 2,590.00		\$ 492,370.00 \$ 30,400.00 \$ 98,900.00 \$ 98,350.00 \$ 22,600.00 \$ 25,900.00
InControl Configuration (one-time charge per site)  Light Bar with Cable Retractor per specifications  Shipping / Freight for Light Bar with Cable Retracto  RFID Card per specifications  Commissioning (first unit only)  Commissioning (balance of units)		10	InService Maintenance Plan per specifications  Shipping / Freight for DC Charger			
Light Bar with Cable Retractor per specifications  Shipping / Freight for Light Bar with Cable Retracto  RFID Card per specifications  Commissioning (first unit only)  Commissioning (balance of units)	6	-	InControl Configuration (one-time charge per site)			
Shipping / Freight for Light Bar with Cable Retracto  RFID Card per specifications  Commissioning (first unit only)  Commissioning (balance of units)	7	10	Light Bar with Cable Retractor per specifications		ŏ	
4 RFID Card per specifications 0 I Commissioning (first unit only) 1 9 Commissioning (balance of units)	∞	10	Shipping / Freight for Light Bar with Cable Retractor	\$ 210.00	00	00
1 Commissioning (first unit only) 9 Commissioning (balance of units)	9	4	RFID Card per specifications	\$ 130.00	00	900
Commissioning (balance of units)	10	-	Commissioning (first unit only)	1	0.00	0.00
	11	9	Commissioning (balance of units)		400.00	0.00
				TOTAL ALL TEMS	TEMS	TEMS

<sup>\*</sup>Award to be based on total amount. Must bid all items.

Name of Bidder: Cullen Electrical Contractors, Inc.

<sup>\*\*</sup>All items must be as specified. No exceptions allowed.

	==	10	9	00	7	6	Un .	4	Ų	2	_	ITEM #:
	9	<b></b>	4	10	10	_	10	10	10	20	10	OUANTIT
TOT	Commissioning (balance of units)	Commissioning (first unit only)	RFID Card per specifications	Shipping / Freight for Light Bar with Cable Retractor	Light Bar with Cable Retractor per specifications	InControl Configuration (one-time charge per site)	Shipping / Freight for DC Charger	InService Maintenance Plan per specifications	Extended Warranty per specifications	InControl License per specifications	DC Fast Charger per specifications	OUANTITY: DESCRIPTION:
TOTAL – ALL ITEMS	\$ 385.00	\$ 1,925.00	\$ 15.00	\$ 110.00	\$ 1,430.00	\$ 38,938.90	\$ 715.00	\$ 8,976.00	\$ 9,499.60	\$ 1,425.60	\$ 43,553.95	UNIT PRICE:
= \$ 715,746.40	\$ 3,465.00	\$ 1,925.00	\$ 60.00	\$ 1,100.00	\$ 14,300.00	\$ 38,938.90	\$ 7,150.00	\$ 89,760.00	\$ 94,996.00	\$ 28,512.00	\$ 435, 539.50	TOTAL PRICE:

<sup>\*</sup>Award to be based on total amount. Must bid all items.

1	Name of Bidder:
	DATTCO Inc., d/b/a/ DeVivo Bus Sale

<sup>\*\*</sup>All items must be as specified. No exceptions allowed.

	pand pand	10	9	<b>∞</b>	7	6	S	4	ω	2	_	HEM#:
	9	<del></del>	4	10	10	1	10	10	10	20	10	QUANT
ТОЛ	Commissioning (balance of units)	Commissioning (first unit only)	RFID Card per specifications	Shipping / Freight for Light Bar with Cable Retractor	Light Bar with Cable Retractor per specifications	InControl Configuration (one-time charge per site)	Shipping / Freight for DC Charger	InService Maintenance Plan per specifications	Extended Warranty per specifications	InControl License per specifications	DC Fast Charger per specifications	QUANTITY: DESCRIPTION:
TOTAL = ALL ITEMS	\$ 285	\$ 275	\$ 47	\$ 145	\$ 1230	\$ 530	\$ 1,260	\$ 5,760	\$_11,450	\$ 1,140	\$ 64,800	UNIT PRICE:
= \$ 872,808.00 *	\$ 2,565	\$ 275	\$ 188	\$ 1,450	\$ 12,300	\$ 530	\$ 12,600	\$ 57,600	\$ 114,500	\$ 22,800	\$ 648,000	TOTAL PRICE:

<sup>\*</sup>Award to be based on total amount. Must bid all items.

of Bidder:
Sanava LLC DBA Graviti energy

<sup>\*\*</sup>All items must be as specified. No exceptions allowed.

	=	10	9	∞	7	6	Si	4	υ.	2	ı	ITEM #:
	9	ı	4	10	10	_	10	10	10	20	10	QUANTIT
ТС	Commissioning (balance of units)	Commissioning (first unit only)	RFID Card per specifications	Shipping / Freight for Light Bar with Cable Retractor	Light Bar with Cable Retractor per specifications	InControl Configuration (one-time charge per site)	Shipping / Freight for DC Charger	InService Maintenance Plan per specifications	Extended Warranty per specifications	InControl License per specifications	DC Fast Charger per specifications	QUANTITY: DESCRIPTION:
TOTAL – ALL ITEMS =	\$ 738	\$ 3,418	\$ 28	\$ 30	\$ 1.476	\$ 678	\$ 840	\$ 10.880	\$ 11.515	\$ 1,470	\$ 49,356	UNIT PRICE:
\$ 781.226 *	\$ 6.642	\$ 3,418	\$ 112	\$ 300	\$ 14,760	\$ 678	\$ 8,400	\$ 108.804	\$ 115.152	\$ 29,400	\$ 493.560	TOTAL PRICE:

<sup>\*</sup>Award to be based on total amount. Must bid all items.

Name of Bidder: Amp Electrical Inc.

<sup>\*\*</sup>All items must be as specified. No exceptions allowed.

ITEM #:	OUANTITY	: DESCRIPTION:	UNIT PRICE:	TOTAL PRICE:
1	10	DC Fast Charger per specifications	\$62,068	\$ 620, 600
2	20	InControl License per specifications	s 1,605	\$ 32,100
3	10	Extended Warranty per specifications	s 7968.82	\$ 79,688.27
4	10	InService Maintenance Plan per specifications	\$ 8,29464	s 8 2,946. 40
5	10	Shipping / Freight for DC Charger	\$ 1,358.50	\$ 13,585
6	1	InControl Configuration (one-time charge per site)	s 599	s 599
7	10	Light Bar with Cable Retractor per specifications	s 2,926	\$ 24,260
8	10	Shipping / Freight for Light Bar with Cable Retractor	s 2,872.50	\$ 2872.50
9	4	RFID Card per specifications	s&	s O
10	1	Commissioning (first unit only)	\$ 28 72.50	s 2872.50
11	9	Commissioning (balance of units)	\$ 885.57	5 7,972 83
		тот	`AL - ALL ITEMS =	s 871,204 +

<sup>\*</sup>Award to be based on total amount. Must bid all items.

Name of Bidder: Insuis energy

<sup>\*\*</sup>All items must be as specified. No exceptions allowed.